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Problem quickname: 4897

L) Quick:

4897
Calculate the result.

a) 17426 + 13 + 23 = 79 b) 7+8+28+8=51
¢) 22420+ 7+ 31 = 80
2)

Quick:
4897

Calculate the result.

a) 15.34 + 22.65 + 6.5 + 54.5 = 98.99 b) 9.12 4 18.75 + 5.65 + 61.48 = 95
c) 19.65 + 2.74 + 13.69 + 36.05 = 72.13
3)

- Quick:
4897

Calculate the result.

a) 33 + 28 + 20 + 40 + 18 = 139 b) 154 31 + 34 30 + 109 = 188
¢) 16 4 28 + 33 + 42 4+ 15 = 134 d) 324+ 13 + 41 + 36 + 30 = 152
e) 23 + 6445 + 9 + 64 = 147

4)

—Z Quick:
4897

Calculate the result.

a) 19+ 11 + 34 4 15 = 79 b) 14+ 44 31 + 26 = 75
¢) 5417+ 8429 = 59

Good Luck!
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